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1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of seventy five multiple-choice type of
questions.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.

(iii) After this verification is over, the Test Booklet Number
should be entered on  the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
Example :
where (3) is the correct response.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

6. Read instructions given inside carefully.
7. Rough Work is to be done in the end of this booklet.
8. If you write your Name, Roll Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.

9. You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Black Ball point pen provided by C.B.S.E.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.
13. In case of any discrepancy in the English and Hindi versions,

English version will be taken as final.
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COMMERCE  

Paper – III 
 

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All 

questions are compulsory. 
 

1. Assertion (A) : Globalization is a process of global integration of products, 

technology, labour, investment, information and even cultures. 

 Reasoning (R) : As a part of economic reforms in the country globalization is the result 

of internal economic compulsions and external pressure of 

international community. 

 Codes : 

 (1) (A) and (R) both are correct and (R) is correct explanation of (A). 

 (2) (A) and (R) both are correct, but (R) is not correct explanation of (A). 

 (3) (A) is true, but (R) is false. 

 (4) (A) is false, but (R) is true. 
 

2. Which of the following sector is not open for 100% foreign direct investment ? 

 (1) Oil refining (2) Power plants 

 (3) Airport development (4) Coal 
 

3. Read the following statements and find the correct option : 

 Statement – I : The 1991 industrial reforms exempted all industries from compulsory 

licensing. 

 Statement – II : Still there are a few industries under compulsory licensing. 

 Codes : 

 (1) Only Statement – I is correct. 

 (2) Only Statement – II is correct. 

 (3) Statements – I and II both are correct. 

 (4) Statements – I and II both are not correct. 
 

4. Match the items in Column – I to those of Column – II : 

Column – I Column – II 

a. Demand for packaged food i. Economic factor 

b. Strike in factory  ii. Social factor 

c. Lower interest rate iii. Political factor 

d. New production method iv. Technological factor 

 Codes : 

  a b c d 

 (1) ii i iii iv 

 (2) i ii iii iv 

 (3) ii iii i iv 

 (4) i iv ii iii 
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��������� 
���	
����� – III 

 

�
��
	� : ������������	��
�������������75��
�������� ��������������������������� ���������� �����(2)���� �����������������������������������

 

1. � ��
� (A) : ��������  !�"�#����$��"������%���&�� �"�'�
�"���������"���()�������� ���
����������* ���������� ��������� �+� ��  !��
� �������, ��������� 

 ����  (R) : $����
�����-.�� ����/�� ����� �0��&���� �1 ���
�����������  !�������� � ���-.�� �
��/������������ ����� ��345����
��
��$������ �
��6�$
������ ����� !��
��������

� ��  �! 
 (1) (A) ��� �(R) $���������������+��
�7�(R), (A)�� �����������8��������� 
 (2) (A) ��� �(R) $�������������������� ���(R), (A)�� �����������8�������9����� 
 (3) (A) �������"������ ���(R) &����������� 
 (4) (A) &��������"������ ���(R) ���������� 
 

2. ���
������8����
�������� ���������:��	��;<<���������������$�����������:������������� ����+�8���������9����? 

 (1) ����������/��� (2) ���%����������	� 
 (3) ��������=�������� ���� (4) � ������� 
 

3. ���
������8����� .������� ������>?+���� ���������� ����� ��)������� ��@�+�: 
 � ��
��– I : ��3���1991 �� ����%���&�� ����/�� ����� ��/�������0���#%��&����� ���������������������A��&������B(4�$��&����.����� 
 � ��
��– II : �0���0����� B�#%��&������ ����+��������A��&������������������ 
� ��  �! 
 (1) �� ������ .����– I ���������� 
 (2) �� ������ .����– II ���������� 
 (3) � .����– I ��� �II $����������������� 
 (4) � .���– I ��� �II $�������&����������� 
 

4. � �D��
��– I � ��
�$���� ���� �D��
��– II � ��
�$����� ����.�����
��������� ��@�+�: 
� �"#�$��– I � �"#�$��– II 

a. �������3E���8��%���$�.���� ��
���&� i. ��-.�� �� � � � 

b. � � 8������
����F?������ ii. ���
���@�� �� � � � 

c. ���
���
���@��$ � iii.  �@�������� �� � � � 

d. #����$���� ������������/� iv. ��� ���� ��� � � � 
 ��  �: 

  a b c d 

 (1) ii i iii iv 

 (2) i ii iii iv 

 (3) ii iii i iv 

 (4) i iv ii iii 
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5. Which of the following statements is true ? 

 (1) Rate of return on capital is Acid Test Ratio. 

 (2) Equity capital to fixed interest- bearing securities is a turnover ratio. 

 (3) Capital gearing is the ratio of equity capital to fixed-interest bearing securities. 

 (4) Input and output ratio is a measure of profitability. 
 

6. A and B are partners in a firm who share profits and losses equally. They admitted C on 

the following terms : 

 C should bring � 12,000 as capital and � 8,000 as goodwill. New profit sharing ratio of A, 

B and C will be 2 : 1 : 2, respectively. 

 A and B will share the goodwill in which of the following ratios ? 

 (1) 3 : 4 (2) 2 : 3 

 (3) 2 : 1 (4) 1 : 3 
 

7. Match the items of List – I with those of List – II and choose the correct code : 

List – I List – II 

a. Material Cost Variance  i. Actual Time (Standard Rate – Actual Rate) 

b. Material Usage Variance ii. Standard Price (Standard Quantity – Actual 

Quantity) 

c. Labour Rate Variance iii. Standard Material Cost – Actual Material 

Cost 

d. Labour Efficiency Variance iv. Standard Rate (Standard Time – Actual 

Time) 

 Codes : 

  a b c d 

 (1) iii i ii iv 

 (2) ii i iv iii 

 (3) iii ii i iv 

 (4) iii ii iv i 
 

8. If sales of a firms are � 74 lakh; variable costs � 40 lakh; fixed costs � 8 lakh, then 

operating leverage of the firm will be  

 (1) 1.87 (2) 1.31 

 (3) 2.51 (4) 3.27 
 

9. For the following two statements of Assertion (A) and Reasoning (R), indicate the correct 

code : 

 Assertion (A) : High initial price with heavy promotional expenditure at early stages 

for selling new products is justified. 

 Reasoning (R) : Demand for new product is likely to be less elastic at the early stages 

of market development. 

 Codes : 

 (1) (A) is correct but (R) is not correct. 

 (2) (A) is not correct but (R) is correct. 

 (3) (A) and (R) both are correct. 

 (4) (A) and (R) both are not correct. 

www.examrace.com



J-08-16 5  Paper-III 

5. ���
������8����
�������� ���������� .�������������? 

 (1) ��(G@����� ������������ ��$ ��
����� �:�!����������������� 
 (2) ��
�������(G@��������.�����
���@���������������0�(��������� ����������������=������������������ 
 (3) ��
�������(G@��������.�����
���@���������������0�(��������� ��������������(G@���$�����  !������������������������ 
 (4) ��$�����$���������������0�$���� ����� ��+� �
����� ������ 
 

6. A ��� �B +� �H 
���
������I��$� ����@�������0��������� ���
� �
� �
� �
� �
��G4���������#�����������
��������J��� �C � ������������
�$����: 

 C � 12,000 ��(G@���+����� 8,000 8��������� �1 ���
���������&�����A, B +����C �� �
�/������������0�����0��@��������������
�, 
���K�2 : 1 : 2 ���&����� 

 A ��� �B 8�������� ������
���
��������� �������������
���
��G4�&���? 

 (1) 3 : 4 (2) 2 : 3 

 (3) 2 : 1 (4) 1 : 3 
 

7. ��()���– I � ��
�$���� �����()���– II � ��
�$����������
��������� ��@�+���.��������� ��F�� ��)������� ��@�+�: 

�������– I �������– II 

a. ���
�&�������&�������)� !� i. ���������� ���
����L���
��������$ �–����������� �$ M 

b. ���
�&����#������&�����)� !�� ii. ���
�����
�(����L���
�����
��	���–����������� �
��	��M 

c. '�
��$ ����)� !�� iii. ���
��������
�&�������&����–����������� ����
�&�������&���� 

d. '�
���� �����������)� !�� iv. ���
�����$ �L���
�������
����–����������� ���
���M 
 � ��% : 

  a b c d 

 (1) iii i ii iv 

 (2) ii i iv iii 

 (3) iii ii i iv 

 (4) iii ii iv i 
 

8. ���$�H 
��� � �� ����, ���� 74 ���8�; ��� ����������������&����� 40 ���8�; �.����� ���&����� 8 ���8�� ��"� ����� H 
��� � ��
��� )������������ �@�����&��� 

 (1) 1.87 (2) 1.31 

 (3) 2.51 (4) 3.27 
 

9. ��0�� .����(A) +�������� �(R)��� ����
������8����$���� .�������� ����+������� ��F�� ��)������� ��@�+�: 
 &���� ��
��(A) : ���� �
0�� �����.��� 
��� ������ #����$��� �� � ����, ����� � ������� 0�� �� ������������
�� � �������� �� � ���.�� #))��

���� �
0�� �
�(��������)������(!�������� 
 ���� �(R) : 
��@�� � ���� ������ � ���� �
0�� ���� ��� �� � �����#����$�� �� 
��G&��� ��� 
������)�� ������� � �� ��
0��������

������������ 
� ��  �! 
 (1) ��0�� .����(A) �������"������ ������� �(R) ��������9������ 
 (2) ��0�� .����(A) ��������9���"��� ��������� �(R) ���������� 
 (3) ��0�� .����(A) +�������� �(R) $����������������� 
 (4) ��0�� .����(A) +�������� �(R) $���������������9������ 
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10. Match the items of List – I with those of the List – II and indicate the correct code : 

List – I List – II 

a. Producer’s equilibrium range i. Leon Walras’s approach 

b. Possible input use ii. Alfred Marshall’s approach 

c. New price equilibrium after change in 

demand is set through price adjustment 

iii. Isoquant curve 

d. New price equilibrium after change in 

demand is set through quantity adjustment 

iv. Ridge lines 

 Codes : 

  a b c d 

 (1) i ii iii iv 

 (2) ii iv i iii 

 (3) iv iii i ii 

 (4) iii i iv ii 
 

11. Gossen’s second law of consumption is based on which combination of the following 

assumptions : 

 I. Rational Behaviour of consumers 

 II. Cardinal measurability of the utility 

 III. Comparability of the utility 

 IV. Desire for attaining satiety 

 Indicate the correct code : 

 Codes : 

 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 
 

12. Perfect competition cannot be distinguished from monopolistic competition as per which 

combination of the following features of the market : 

 (a) freedom for entry into or exit from the market. 

 (b) level of knowledge of the market. 

 (c) number of buyers and sellers in the market. 

 (d) nature of goods bought and sold. 

 Indicate the correct code : 

 Codes : 

 (1) (a) (b) (d) 

 (2) (b) (c) (d) 

 (3) (a) (b) (c) 

 (4) (a) (c) (d) 
 

13. Which one of the following is not the probability based sampling technique ? 

 (1) Cluster sampling (2) Stratified sampling 

 (3) Snow-ball sampling (4) Multi-stage sampling 
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10. ��()���– I � ��
�$���� ����()���– II � ��
�$��������
�������� ��@�+�+���������� ��F�� ��)������� ��@�+�: 
�������– I �������– II 

a. #����$� ��� ����
���� �����
�� i. ��������������� ���� ����0�&�
�� 
b. ��
0���������/����#������&�� ii. ��H�� F�
��������� ����0�&�
�� 
c. 
��G&�� ��� �������� �� � ��� !��
����1 ��� ����� 
�(���� ���
���


�(������
������@������ �
��/��
������������������ 
iii. ��
�������$����, � 

d. 
��G&��
������ ���������� �H �����1 ��������
�(�������
���
��	���
��
������@������ �
��/��
������������������ 

iv. � @�� �8��+G 

 � ��% : 

  a b c d 

 (1) i ii iii iv 

 (2) ii iv i iii 

 (3) iv iii i ii 

 (4) iii i iv ii 
 

11. &���������� ��#��0���&��� ���N�����������
�����
������8����
�������������� ��� ����������@������ ���/��� ������? 

 I. #��0���O��������� �������� ��(!���������� � 
 II. #�������&������ �����8����
�� �
������������� 
 III. #�������&������ ���������������� 
 IV. �������34����������� ���)B�� 
 ������ ��F����&����� ��@�+�: 
 � ��%�: 
 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 
 

12. 
��@�� �� �����
������8����������3���������� ��� ����������@������ ���/�� ��� ���(!��������������&������ ���+� ��/�� �� � ������������&�����
�������&�����9��� ����@������ �������? 

 (a) 
��@�� �
����������������
���&��
����� ��������	����� 
 (b) 
��@�� ��� �P������ ����� � 
 (c) 
��@�� �
����,� �������+��������,� �������� �����8���� 
 (d) �, ����������, ���� ��@������������������������� ����0����� 
 ������ ��F�� ��)������� ��@�+ : 

 � ��% : 

 (1) (a) (b) (d) 

 (2) (b) (c) (d) 

 (3) (a) (b) (c) 

 (4) (a) (c) (d) 
 

13. ���
������8����
�������� ���������+� �������)��������Q������������ ������/��� ������9����? 

 (1) ��
�(��������)������ (2) ��� ��* ���������)����� 
 (3) ���3�� ���!F�L������
��D��M�������)����� (4) 
���)� !��������)����� 
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14. Read the following statements and choose the correct code : 

 Statement – I : In statistical hypothesis-testing, null hypothesis states that there is a 

difference between population parameter and sample statistic. 

 Statement – II : The two-tailed test in hypothesis testing is a non-directional test. 

 Codes : 

 (1) Both the statements are true. 

 (2) Both the statements are false. 

 (3) Statement – I is true while Statement – II is false. 

 (4) Statement – I is false while Statement – II is true. 
 

15. Match the items of List – I with the items of List – II and indicate the code of correct 

matching : 

List – I List – II 

a. Regression coefficient of variable Y 

on X variable 
i. 

(Mean of squares between sample groups)

(Mean of squares within sample groups)
  

b. Value of Chi-square 

ii. 
Σ (X – 

–
X) (Y – 

–
Y)

n
 

c. F-ratio for ANOVA 
iii. Σ 

(O – E)2

E
  

d. Covariance between X and Y 

variable iv. 
Σ(Y – 

–
Y) (X – 

–
X)

Σ(X – 
–
X)2

  

 Codes : 

  a b c d 

 (1) iii ii i iv 

 (2) iv iii ii i 

 (3) ii iv iii i 

 (4) iii iv ii i 
 

16. If the two regression lines are as under : 

 Y = a + bX 

 X = C + dY 

 What is the correlation coefficient between variables X and Y ? 

 (1) bc (2) ac 

 (3) ad (4) bd 
 

17. The tendency to perceive another person as belonging to a single class or category is 

known as  

 (1) Stereotyping (2) Halo effect 

 (3) Attribution (4) Assimilation 
 

18. Which of the following is not a feature of Weber’s ‘Bureaucracy’ ? 

 (1) Hierarchy (2) Division of work 

 (3) Official rules (4) Personal relationships 

www.examrace.com



J-08-16 9  Paper-III 

14. ���
������8����� .������� �����>?����� �������( 4�� ��)�������  ��: 
 � ��
��– I : �����8��� ���� ��� � ������� �� �:�!�� 
��� ��(���� ��� � ������� ���� 
�������� ��� �� ���
�&��� 
����$�F���� � ������$����

�����8��� ���� �
��)������ ������������� 
 � ��
��– II : ��� � ��������� �:�!��
����N���(�B��� �:�!��+� ��$�������������� �:�!�������������� 
 ��  �: 
 (1) $�������� .�������������� 
 (2) $�������� .����&����������� 
 (3) � .����– I �������"�@�
��� �� .����– II &����������� 
 (4) � .����– I &��������"�@�
��� �� .����– II ���������� 
 

15. ��()���– I � ��
�$���� �����()���– II � ��
�$����� ����.�����
��������� ��@�+���� ���������
�������� ���( 4�
�����+�: 
�������– I �������– II 

a. X )������ �Y )����� ��������&�
����&��!���� � 
i. 

(������$������
�(������ �
��)����&��J�� ��
��/��M
L������$������
�(����
�����&��J�� ��
��/��)   

b. � �����O����� �
�(���� 
ii. 

Σ (X – 
–
X) (Y – 

–
Y)

n
 

c. ANOVA �� ����+�F-���������� 
iii. Σ 

(O – E)2

E
  

d. X ��� �Y )�������� �
��)��������)� !� 
iv. 

Σ(Y – 
–
Y) (X – 

–
X)

Σ(X – 
–
X)2

  

 ��  �: 
  a b c d 

 (1) iii ii i iv 

 (2) iv iii ii i 

 (3) ii iv iii i 

 (4) iii iv ii i 
 

16. ���$�$���������&�
���� �8��+G����
��������� �����: 
 Y = a + bX 

 X = C + dY 

 �����X ��� �Y )�������� �
��)��� ��������
��/��&��!���� ����K� 
 (1) bc (2) ac 

 (3) ad (4) bd 
 

17. $(�� ������O���� ���+�������
�I������ �������*�=���� �����+� ���'��!���������&���� ������ ���� �������� 
 (1) �4�� ����4��A��&� (2) ����������0����� 
 (3) &��!�� ����!� (4) ���
������  !� 
 

18. ���
������8����
�������� ������������
� �� ��‘�����  �����’ � ��������3��������9��� ? 

 (1) ��������� (2) � ������ �����0��@��� 
 (3) � �������������
��/��������
�� (4) ������O��� ����
��/�� 
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19. Match List – I with List – II 

List – I List – II 

a. Matrix Design i. Project structure as superimposed on a functional 

structure. 

b. Network Design ii. A temporary network of companies that come 

together quickly to exploit fast-changing 

opportunities and share skills, costs and markets. 

c. Horizontal Design iii. Teams are used to manage everything. 

d. Virtual Organisation iv. Totally abandoning classical, hierarchical and 

functional structure of organization. 

 Codes : 

  a b c d 

 (1) i ii iii iv 

 (2) i iv iii ii 

 (3) iii ii iv i 

 (4) i ii iv iii 
 

20. Which of the following is exercised during the operation of programme ? 

 (1) Feed forward control (2) Feedback control 

 (3) Static control (4) Concurrent control 
 

21. Assertion (A) : Publicity is a non-personal stimulation of demand for a product by 

obtaining favourable presentation in media that is not paid by the 

sponsor. 

 Reasoning (R) : In strict parlance, publicity does not form a part of communication mix 

because it is not paid for, its appearance is not always certain, and its 

presentation is not programmed. 

 Codes : 

 (1) (A) is right and (R) is wrong. 

 (2) (R) is right and (A) is wrong. 

 (3) Both (A) and (R) are right and (R) explains (A). 

 (4) Both (A) and (R) are right and (R) does not explain (A). 
 

22. The difference between the prospective consumer’s evaluation of all the benefits and costs 

of an offering and perceived alternatives, is known as  

 (1) Customer perceived value 

 (2) Total customer benefit 

 (3) Total customer cost 

 (4) Customer expected value 
 

23. In the ‘decline stage’ of the ‘Product Life Cycle’ sales decrease due to  

 (a) technological advances 

 (b) shift in consumer tastes 

 (c) increased domestic and foreign competition 

 Codes : 

 (1) (a) only (2) (b) only 

 (3) (a) and (c) (4) (a), (b) and (c) 
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19. ��()���– I � �����()���– II �������
��������� ��@�+�K 
�������– I �������– II 

a. 
���45O�����0�� ��� i. ��� ����@�����>�G)���� ������� ������
�� �>�G)����� ��/��� ���������  ���� 

b. ���4���� ���0�� ��� ii. �� ���������� � ����.������ ���4���� "� @���� ���@��� ���� 
�$������ ������������ ���
� �����0��#E�������� �� ������"����&������.���
��@�� �� ������I����  ������ �
���+���� ����+� ����.������������� 

c. :�����@����0�� ���� iii. ��0����� B�� �����
��/���  ������ ����+�4�
��� ���������&���� ����@��������� � 

d. ��0���������&�E��� iv. ���&�E����� � �)� ��

���"� ���������������� � ���� ������
�� �>�G)��� � �� ��(!����K�
��� ����&���  ������ 

 ��  �: 
  a b c d 

 (1) i ii iii iv 

 (2) i iv iii ii 

 (3) iii ii iv i 

 (4) i ii iv iii 
 

20. � �����, 
��� ��&��������/���� �$�� �������
������8����
��������� ��� ���������&���� ����@���������? 

 (1) �&�������34�������	�!� (2) ����������34�������	�!� 
 (3) �.������ �������	�!� (4) ��
�����R�������	�!� 
 

21. &���� ��
��(A) : ���)�� "� 
���F���� 
��� �����( ��� �����������  !�� �������� �  �� � �� ���� #����$� �� � ���+� 
���&�� � ��
�������O��� �#$7$����������@���� ��0��&���������������@�� �N� �����9��� ����@����������� 

 ���� �(R) : ��8�����
$���
��"����)�� ��������3�!���
��'����� ��0��&�����9����������"�O������ ������ ����+�0��&����������9�
�� ����@��������"����� ��#����.������
��������������)�������9�������������� ������ ������������  !��� ��
� �����, 
�������� ����9��� ����@������������

� ��  �! 
 (1) (A) ����������� �(R) &����������� 
 (2) (R) ����������� �(A) &����������� 
 (3) (A) ��� �(R) $������������������ �(R), (A)�� ������8��������� 
 (4) (A) ��� �(R) $������������������ �(R), (A)�� ������8�������9������ 
 

22. ���������������� �P��������� ������� �����&��������� ����0��������#��0���O��������� ���0������0������ �
�(������ ����� �
��)���� ����� �
� ������
������8����
��������� ���� �1 ���
���@������@���������?  

 (1) &����� �N� ������0�(���
�(���� (2) �� ���&����� ����0�� 
 (3) �� ���&����� ����&���� (4) &����� ��������������
�(���� 
 

23. ‘#����$�@�������)��, ’ � ��‘�&� �������������.��’ 
������
������8����
��������� ���� �� � !���
��, ��S�4�������?  

 (a) �����%���&�� ����#������� 
 (b) #��0���O����� ��T �)������
������� � 
 (c) 
�>?�������S� ���(���� ����$��������������/�����
� ��  �! 
 (1) �� ���� (a) (2) �� ���� (b)  

 (3) (a) ���  (c) (4) (a), (b) ��� �(c) 
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24. Which one of the following denotes performance quality of a product ? 

 (1) Level at which the product’s primary characteristics operate. 

 (2) Degree to which all produced units of product are identical and meet promised 

specifications. 

 (3) Product’s expected operating life under natural conditions. 

 (4) Probability that the product will not fail within a specified time period. 
 

25. PBT of a firm has increased by 40 percent as a result of 10 percent increase in sales, 

operating leverage of the firm is 2. What will be financial leverage of the firm ? 

 (1) 4 (2) 20 

 (3) 2 (4) 1 
 

26. Indicate the correct combinations of methods for determining the cost of equity capital 

from the following : 

 I. Earnings yield method 

 II. Operating income yield method 

 III. Dividend yield method 

 IV. Dividend yield and growth method 

 Codes : 

 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 
 

27. From the following indicate the correct combination of the cash management models : 

 I. Modigliani-Miller (M-M) model 

 II. Miller-Orr (MO) model 

 III. Ezra Soloman Model 

 IV. Baumol Model 

 Codes : 

 (1) I II III 

 (2) II III IV 

 (3) I III 

 (4) II IV 
 

28. Which combination of the following represents the assumptions of Modigliani-Miller 

approach for capital structure decisions ? 

 I. Capital market is perfect. 

 II. All earnings are distributed as dividends. 

 III. Risk classes are homogeneous. 

 IV. Corporate taxes do exist. 

 Indicate the correct code : 

 Codes : 

 (1) I IV 

 (2) I II III 

 (3) I II III IV 

 (4) I II IV 
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24. ���
���
�������� ���������+� �N� ���� ����#����$�� ��� ��������3���$���&��!���=���
��������@���������? 

 (1) ������� ��@������ �#����$�� ������ ��0�� �������3������ ������  �������� 
 (2) �������
��"� �@���� �� �#����$�� �� ��0���#�����$��� �� �����G� ��
�1 ��� ������������� � ������P����� �������34����� � ��� ��( ��

�  ��������� 
 (3) �����-&�� ���.���������
���#����$�� ������������������)��������
����$��� 
 (4) +��������0����������� �#����$�������-$34���
��������/���� ���$ �8� �
�����9����&������ 
 

25. ����, ��� 
��� ;<� ����������� ��*�Q� �� � H �����1 ��� H 
��� �� � �  � ��(���� ���0���� 
��� V<� ����������� � �� ��*�Q� ����� ��� �� H 
��� � ��
��� )������������ �@��W������H 
���� �����=���������� �@�����&���X� 

 (1) 4 (2) 20 

 (3) 2 (4) 1 
 

26. ���
������8����������
�������(G@���� �����&����� ������/���� ����  ���������������/�������� �������������@����� ������&����� ��@�+�: 
 I. ������@���������/�� 
 II. ��� )�������������@���������/�� 
 III. ���0�������@���������/� 
 IV. ���0�������@�����+������*�Q�����/���
 � ��% : 

 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 
 

27. ���
������8�������� ��� F?����
��/��
��DF����� �������������@����� ������&����� ��@�+�: 
 I. 
���$��&����������
��� �L+
��+
�M�
��DF��� 
 II. �
��� ���D �L+
�����M�
��DF��� 
 III. +@�? ����������
����
��DF�� 
 IV. 
��
������
��DF��� 
 � ��%�: 
 (1) I II III 

 (2) II III IV 

 (3) I III 

 (4) II IV 
 

28. ���
������8���� 
��� ���� � ����� ���� �������@���� ��(G@��� >�G)��� ���!����� �� � 
���$��&����������
��� � ��0�&�
�� � �� 
������������ � ��
����������/������  �������? 

 I. ��(G@���
��@�� ���(!�������� 
 II. ��0������0����� �����0�������� �1 ���
�������� !���� ����@����������� 
 III. @����8�
����&�����
�1 �������� 
 IV. ���&�
������  ����%
����������������� 
 ������ ��F�
�����+ : 

 � ��%�! 
 (1) I IV 

 (2) I II III 

 (3) I II III IV 

 (4) I II IV 
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29. Choose the correct sequence of steps of job analysis : 

 (a) Review relevant background information such as organization charts and process 

charts. 

 (b) Develop a job description and job specification.  

 (c) Select representative positions. 

 (d) Decide how the information is to be used. 

 (e) Actually analyse the job. 

 (f) Verify the job analysis information 

 Codes : 
 (1) (b), (a), (e), (f), (c) and (d) (2) (c), (b), (e), (a), (d) and (f) 

 (3) (d), (a), (c), (e), (f) and (b) (4) (a), (b), (f), (d), (e) and (c) 
 

30. Choose the correct sequence of steps of training and development process : 

 (a) Evaluation 

 (b) Validation 

 (c) Need analysis 

 (d) Instructional design 

 (e) Implementation 

 Codes : 

 (1) (d), (b), (a), (e) and (c) (2) (c), (b), (d), (e) and (a) 

 (3) (a), (b), (c), (e) and (d) (4) (c), (d), (b), (e) and (a) 
 

31. Under the Industrial Disputes (Amendment) Act, 2010, the total number of members of 

the Grievance Redressal Committee shall not exceed  

 (1) Four (2) Six 

 (3) Ten (4) Twelve 
 

32. Which of the following is/are correct with respect to deductions by way of fines under the 

Payment of Wages Act, 1936 ? 

 (a) An employed person can be fined only for acts and omissions which are specified in 

a list approved by the state government or the prescribed authority. 

 (b) The total amount of fine which can be imposed upon a person in any wage period 

must not exceed 3 percent of the wage payable. 

 (c) No fine can be imposed on a person who is below the age of 18 years. 

 (d) No fine can be recovered by instalments or after the expiry of 90 days from the day 

on which it was imposed. 

 Codes : 
 (1) (a) only (2) (b) and (c) 

 (3) (a) and (b) (4) (a) and (d) 
 

33. Read the following statements and choose the correct code : 

 Statement – 1 : A rise in SLR directly reduces credit creating capacity of Banks. 

 Statement – 2 : Changes in SLR, like CRR, produce direct and immediate effect on the 

supply of money and credit. 

 Codes : 

 (1) Both the Statements are correct. 

 (2) Statement – 1 is correct while Statement – 2 is false. 

 (3) Statement – 2 is correct while Statement – 1 is false. 

 (4) Both the Statements – 1 and 2 are false. 

www.examrace.com



J-08-16 15  Paper-III 

29. � ������������3�!���� �)� !������ �������, 
��� ��)������� ��@�+�: 
 (a) ���&�E���)��4����� ������, ����)��4��@��������������&�� ���*3E0�(�
�����
��/�����()������ ����
��:����  ������ 
 (b) � ���������� !����� �� ��������$Y��������� �������  ����� 
 (c) ����������/�� ���$���� ��)�������  ������ 
 (d) �������!�������������� ���()������ ��#������&���� ������ ����@��+&��� 
 (e) � ������ ������������ ��������3�!���  ���� 
 (f) � ������������3�!����()������ ��������������  ���� 
 ��  �: 
 (1) (b), (a), (e), (f), (c) ���  (d) (2) (c), (b), (e), (a), (d) ���  (f) 
 (3) (d), (a), (c), (e), (f) ���  (b) (4) (a), (b), (f), (d), (e) ���  (c) 
 

30. ������:�!����� ����� ����� �������, ������ �)� !������ �������, 
��� ��)������� ��@�+�: 
 (a) 
�(������ ��� (b) ���
��!���  !� 
 (c) �������� �����������3�!�� (d) ����$�����
�� ���0�� ���� 
 (e) � ������������� 
 ��  �: 
 (1) (d), (b), (a), (e) ���  (c) (2) (c), (b), (d), (e) ���  (a) 

 (3) (a), (b), (c), (e) ���  (d) (4) (c), (d), (b), (e) ���  (a) 
 

31. ���%���&�� � ������$� L�������/���M���/������
�"� W<;<��� ��/����� ���� ������ ������ !�� ���
������� � ��$������ � �� �� ��� ���8����
���
������8����
��������� ��������/�� ����9�������� ����? 

 (1) )��  (2) B� 

 (3) $�� (4) 
�� � 
 

32. 
�@�$( �����$������/������
�"�;Z[\��� ��/�����@��
��������� �1 ���
���� 4�������� ����
��/��
������
������8����
�������� ��������]� �����
�����������]���? 

 (a) ��������@��������O����� ��� �����+������* ������� �)�(� ��� ����+�@��
���������&������@������ ������"�@���� �@����� � � �����
���/���� ��������/��  !��N� ������
����$�����()���
���������-$34������� 

 (b) �� ����
�@�$( ������/��
����� ��������O����� ���&��+�@������ �����������@��
�������� ���� ��� � 
�"�$����
�@�$( ���� �[�
�����������������/�� ����9��������)����+��� 

 (c) ;^���3�������� 
��#
����� �����O����� �� �����@��
����������9���&������@������ ��������� 
 (d) � �����0���@��
��������� ������N� ������@��
���������&��+�@�������� ��$�������Z<��$���� ����
��������� �
��$�����(������9��� ����

@������ ���������
� ��  �!� 
 (1) �� ���� (a) (2) (b) ���  (c) 
 (3) (a) ���  (b) (4) (a) ���  (d) 
 

33. ���
������8����� .������� ������>?������� �������( 4�� ��)������� ��@�+ : 

 � ��
�� – 1 : +��_+��_�� _�
�����*�Q"�
��� ���� �����8����*@����:�
������ ���������:��1 �������S�4��$���������� 
 � ��
�� – 2 : ���_�� _�� _�� ��0��G����+��_+��_�� _�
������ ��������������/������� ����8��� ������(-����� �������:����� �

���� �������0�������F?��������� 
 ��  �: 
 (1) $�������� .�������������� 
 (2) � .��� – 1 �������"�@�
��� �� .��� – 2 &����������� 
 (3) � .��� – 2 �������"�@�
��� �� .��� – 1 &����������� 
 (4) � .����– 1 ��� �2 $�������&����������� 
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34. Match the items of List – I with those of List – II 

List – I List – II 

a. Locally operated financial institutions 

that empower employees to make local 

decisions to serve their customers and 

partners. 

  i. Community Development 

Bank 

b. Regulated banks that provide financial 

services and credit to under-served 

markets or population. 

  ii. Offshore Bank 

c. Banks that prioritise the transparency 

of all operations 

  iii. Community Bank 

d. Bank located in jurisdictions with low 

taxation and regulations 

  iv. Ethical Bank 

 Codes : 

  a b c d 

 (1) i iv ii iii 

 (2) iii ii iv i 

 (3) iii i iv ii 

 (4) iv iii ii i 
 

35. If you need to transfer money to another person through internet, which of the following 

method you could use ? 

 (1) Financial cybermediary 

 (2) Electronic cheque 

 (3) Electronic bill presentation and payment 

 (4) All of the above  
 

36. Which of the following methods are qualitative methods of control of credit creation 

practiced by the Reserve Bank of India ? 

 (a) Open Market Operations 

 (b) Variable Reserve Ratios 

 (c) Credit Rationing 

 (d) Margin Requirements 

 Codes : 

 (1) (a) and (b) (2) (b) and (c) 

 (3) (c) and (d) (4) (d) and (a) 
 

37. Assertion (A) : FEMA has facilitated the growth of India’s export and has helped in 

procurement of imported raw materials and capital goods required for 

rapid industrial growth. 

 Reasoning (R) : It is evident from the provisions of FEMA that it has greatly relaxed 

the conditions for dealing in foreign exchange. 

 Codes : 

 (1) (A) is correct but (R) is not correct. 

 (2) (A) and (R) both are correct and (R) is the correct explanation of (A). 

 (3) (A) and (R) both are correct but (R) is not the correct explanation of (A). 

 (4) (A) and (R) both are incorrect. 
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34. ��()���– I � ��
�$���� �����()���– II �� ��
�$����� ����.�����
��������� ��@�+�K� 
�������– I ������  – II 

a. �.�������� 1 ��� ���� ���)�������� ���=����� ����.��+G"� @���� � 
��)��� ����� � ���
������� &����� ��� ��� � 0��&��$� ��� � �� ������� �  ���� �� � ���+� �.��������
���!������������� �����O������$�����  ��������� 

i. ��
��$�������� ����
��� � 

b. ���������
����
��� "�@���������������
��@�� ���������
�&���� ������=�����������+G�
��� ����8�����$�����  ��������� 

ii. ��DH ���� �
��� � 

c. 
��� "�@������0������)���������
������ $-������� �������.��
�� ����$���������� iii. ��
��$����
��� � 

d. ���(����  �/�������� ���������
�����������:��	���/�� � �
�����.����
��� � iv. ������� �
��� � 

 ��   : 

  a b c d 

 (1) i iv ii iii 

 (2) iii ii iv i 

 (3) iii i iv ii 

 (4) iv iii ii i 

 

35. ���$������ ��� ��4 ���4��� � 
��/��
�� ���� $(�� �� ����O���� ��� /����� ������ !���  �������� ���������� ���
������8���� 
��� ���� �� ���
��Q����� ��#������&���  ���� �������? 

 (1) ���=���������
� �
�/���.� (2) ����O45�D���� �)���  

 (3) ����O45�D���� ��
���������������  !����� �0��&������ (4) #������O�����0��� 
 

36. ���
������8���� ��Q�������� 
��� ���� � ����� ���� ��Q���� 0�� ������ � @�?���� 
��� � N� �� ������� � 
��� ������ @������ ������� ���8�� ��*@����
������	�!��� ��&��!���
�� ���Q������G����? 

 (a) 
��O���
��@�� ����)������� (b) ��� ����R��� �:�������������� 
 (c) ���8�� ���A��&�� (d) 
��-@������������ ���+G� 
 ��   : 

 (1) (a) ��� �(b) (2) (b) ��� �(c) 

 (3) (c) ��� �(d) (4) (d) ��� �(a) 
 

37. &���� ��
��(A) : +H _��_+
�_+_�LH� 
��M�����0�� ������������������ �������*�Q�
���������/����������"�+��
�7������,����%���&�� �
���� ������ ���������������� ������������� ))���
�����+��
�7���(G@��&��������������� �����������
���
�$$�
� ������� 

 ���� �(R) : H� 
����� �������/������������������34������ ������ ��/��������$�����
��̀ ���� ����������� �� �������J�
���

������>����$��&���������

� ��  �! 
 (1) (A) �������"������ ���(R) &����������� 
 (2) (A) ��� �(R) $������������������ �(R), (A)�� �����������8��������� 
 (3) (A) ��� �(R) $��������������"������ ���(R), (A)�� �����������8�������9����� 
 (4) (A) ��� �(R) $�������&����������� 
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38. Match the items of List – I with those of List – II with regard to International Monetary 

Fund : 

List – I List – II 

a. Stand-by Arrangement i. Enhanced Structural Adjustment 

Facility (ESAF) was replaced by this 

scheme. 

b. Poverty Reduction and Growth 

Facility (PRGF) 

ii. Exceptional balance of payments 

problems arising from a sudden loss 

of confidence in the currency. 

c. Supplemented Reserve Facility 

(SRF) 

iii. Financial crisis causing capital 

outflow on capital account of 

balance of payments. 

d. Contingent Credit Line (CCL) iv. To meet balance of payments 

difficulties (most commonly used 

facility). 

 Codes : 

  a b c d 

 (1) iv i iii ii 

 (2) iv i ii iii 

 (3) ii iii i iv 

 (4) ii iv i iii 
 

39. Arrange the following in the correct sequence on the basis of chronological order from the 

earliest to the latest : 

 (a) World Trade Organization 

 (b) Dunkel Draft 

 (c) The Uruguay Round 

 (d) General Agreement on Trade and Tariff 

 Codes : 

 (1) (a), (b), (c) and (d) (2) (d), (c), (b) and (a) 

 (3) (b), (a), (c) and (d) (4) (c), (d), (b) and (a) 
 

40. Which of the following are the features of the Foreign Trade Policy 2015-2020 : 

 (a) Served From India Scheme (SFIS) has been replaced with Service Export from India 

Scheme (SEIS) 

 (b) 5 different schemes have been merged into a single scheme namely Merchandise 

Export from India Scheme (MEIS) 

 (c) All duty credit scrips issued under SEIS would be non-transferable. 

 (d) All duty credit scrips issued under MEIS would be fully transferable. 

 Codes : 

 (1) (a), (b) and (c) (2) (a), (c) and (d) 

 (3) (a), (b) and (d) (4) (b), (c) and (d) 
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38. ���� ��345����
����`� �����/���� ����
��/��
�����()���– I � ��
�$���� �����()���– II � ��
�$����� ����.�����
��������� ��@�+�: 
�������– I �������– II 

a. �4�F�
�����������.�� i. #������ ���)�����
�� � ��
������@���� ������/���
L��_+��_+_+H _M� �� � �.����� �� � ���� ������.��� � ��
&��������� 

b. &� �
��� S�4����� ��� � �����*�Q� � �� ������/���
L���_�� _@��_+H _M 

ii. 
��̀ �� 
����)����� � ���������� � �� � 
��� ���� #�������
������� ������� 0��&������� ����������� � �� ������34�
��
�����+G� 

c. ������(� ����� �:����������/���L+��_�� _+H _M iii. ���=����� ���� 4� ���� #������� 0��&������� ����������� �� �
��(G@������8����� �����������������(G@���
��6��������� 

d. �� A4@��4��,� �F4��������L���_���_+��_M iv. 0��&������� ����������� � �� � �E��������� � ��� ��( �� �  ����
L��������
������1 �������������O���������/��M 

 ��   : 

  a b c d 

 (1) iv i iii ii 

 (2) iv i ii iii 

 (3) ii iii i iv 

 (4) ii iv i iii 

 

39. ���B����������@����� ��� �� ����, 
���� ���/�� ��� ����
������8����� ���������, 
��
�����&���+�: 
 (a) �������������� ����&�E��� 
 (b) F�� ���F5�a4 

 (c) #T &����$�� � 
 (d) ������� ���� ��������������� ����
�������  �  
 ��   : 

 (1) (a), (b), (c) ��� �(d) (2) (d), (c), (b) ��� �(a) 

 (3) (b), (a), (c) ��� �(d) (4) (c), (d), (b) ��� �(a) 
 

40. ���
������8����
����������$����������� ��������2015-2020 � ��� ���������������3����+G����X� 
 (a) �����F� H� ��
�� ���F���� �� �
�� L+��_+H _����_+��_M� �� � �.����� �� � ��-����� +O������4�� H� ��
�� ���F���� �� �
��

L+��_��_����_+��_M�������&������ 
 (b) b� ����0����� �� �
���� � �� 
�)�JF��@�� +O������4�� H� ��
�� ���F���� �� �
�� L+
�_��_����_+��_M� ���
�� � +� ��� �� �
�� 
���

���������� ����&���������� 
 (c) +��_��_����_+��_��� ��/�����@�� ��� ��&������0�������� �@�
�����-)����G���������� !��������&����� 
 (d) +
�_��_����_+��_��� ��/�����@�� ��� ��&������0�������� �@�
�����-)����G���(!����K��������� !��������&���� 
 ��  �: 
 (1) (a), (b) ��� �(c) (2) (a), (c) ���  (d) 

 (3) (a), (b) ��� �(d) (4) (b), (c) ���  (d) 
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41. Choose the correct code indicating the strategies employed by companies against hostile 

takeover : 

 I. Green mail 

 II. Poison Pills 

 III. Yellow Crown 

 IV. Golden Parachutes 

 V. Pac-man Defence 

 Codes : 

 (1) I, II, IV, V (2) I, II, III, IV 

 (3) II, III, IV, V (4) I, II, III, V 
 

42. Which of the following are not models used for evaluating the performance of Mutual 

Funds ? 

 I. Sharpe Model 

 II. Miller Model 

 III. Lintner Model 

 IV. Jenson Model 

 V. Treynor Model 

 Codes : 

 (1) I, II, III (2) I, IV, V 

 (3) I, II (4) II, III 
 

43. ‘Lev and Swartz Model’ belongs to  

 (1) Social Accounting 

 (2) Depreciation Accounting 

 (3) Human Resource Accounting 

 (4) Inflation Accounting 
 

44. Rematerialisation of securities is meant by 

 (1) Repossession of securities (2) Reholding in Physical form 

 (3) Repurchase of securities (4) Restoring the lost right 
 

45. Risk with reference to investment is meant by 

 (1) Excess of possible return over expected return 

 (2) Reverse variability of possible return to expected return 

 (3) Excess of inflation rate over possible return 

 (4) Incapability to earn market rate of return 
 

46. Which of the following are the components of capital  market ? 

 I. Government Securities Market 

 II. Commercial Bill Market 

 III. Industrial Securities Market 

 IV. Treasuring Bill Market 

 V. Long-term Loans Market  

 Codes : 

 (1) I, III, IV, V (2) I, II, III 

 (3) I, III, V (4) I, II, III, IV, V 
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41. ���N�3���(!�����/�&���!���� ����T Q�� 
����������N� ��������O��� !����������G�
��������������������� ��F�� ��)������� ��@�+�: 
 I. &������
����� 
 II. ����D��@����������� 
 III. ��������, �#�� 
 IV. &����F������ ���(4 

 V. ���� �
������FH� ���� 
 � ��% : 

 (1) I, II, IV, V (2) I, II, III, IV 

 (3) II, III, IV, V (4) I, II, III, V 
 

42. ���
������8����
�������� ������������ ���� � �����/������L
��()������H !FM��� �
�(������ ����������������&���� ����@������������1 ���L
��DF��M�
���9����? 

 I. �����Y�������1 �� 
 II. �
��� �������1 �� 
 III. A��4�� �������1 �� 
 IV. @��������������1 �� 
 V. 45��� �������1 �� 
 � ��%�: 
 (1) I, II, III (2) I, IV, V 

 (3) I, II (4) II, III 
 

43. ‘������+��������@�?��������1 ��’ ��

���/������ 
 (1) ���
���@�� ����8���� ������� (2) c�������8���� ������� 
 (3) 
�������������/�������8���� ������� (4) 
��̀ ���H ��������8���� ������� 
 

44. ������0�(���������� �� 
��4�� ������@��������������������� 
 (1) ������0�(��������� �������&����!���  ���� (2) �����K�0������� �1 ���
������������  ���� 
 (3) ������0�(��������� ��������,� ����  ���� (4) 8���+���/�� � �� ��������K�.���������  ���� 
 

45. ����������&���� ���

��/��
���@����8�
������������������� 
 (1) ������������������������� �d �� ���
0������������������� �����/�O��� 
 (2) �����������������������������
0������������������� ������� ������� ��������������� 
 (3) 
��̀ ���H �����$ �� ����
0�������������������� ����/�O��� 
 (4) 
��@�� �����������$ ��-@�����  ����
����:�
����� 
 

46. ���
������8����
�������� �����������(G@���
��@�� ��� �S�4� ����? 

 I. �� � � ��������0�(����
��@�� � 
 II. � �D
�-��������
����
��@��  
 III. ���%���&�� �������0�(����
��@��  
 IV. 45�@� ���
����
��@��  
 V. $�S��� �������e !��
��@��  
 � ��% : 

 (1) I, III, IV, V (2) I, II, III 

 (3) I, III, V (4) I, II, III, IV, V 
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47. Match the items of List – I with those of the List – II and choose the correct code : 

List – I List – II 

a. Process of admitting securities for trading 

on a recognised stock exchange 

i. Jobber 

b. Device adopted to make profit out of the 

difference in prices of a security in two 

markets. 

ii. Badla Transaction 

c. The facility to carry forward a transaction 

from one settlement period to another  

iii. Listing 

d. An independent broker who deals in 

securities on his own behalf 

iv. Arbitrage 

 Codes : 

  a b c d 

 (1) iii iv i ii 

 (2) iii iv ii i 

 (3) ii i iv iii 

 (4) iv iii i ii 
 

48. Match the items of List – I with List – II with regard to consumer behaviour influencing 

factors : 

List – I List – II 

a. Personal factor i. Status 

b. Cultural factor ii. Perception 

c. Social factor iii. Economic condition 

d. Psychological factor iv. Economic strata 

 Codes : 

  a b c d 

 (1) iii i ii iv 

 (2) iii i iv ii 

 (3) iv i ii iii 

 (4) iv iii ii i 
 

49. A conflict between Dominos Pizza and its franchises is to be referred to as  

 (1) Vertical conflict (2) Horizontal conflict 

 (3) Lateral conflict (4) Bi-lateral conflict 

 

50. Straddle positioning uses : 

 (a) Point of parity 

 (b) Point of difference 

 Codes : 

 (1) (a) only (2) (b) only 

 (3) Both (a) and (b) (4) Neither (a) nor (b) 
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47. ��()���– I � ��
�$���� ����()���– II � ��
�$��������
�������� ��@�+�+���������� ��F�� ��)������� ��@�+�: 
�������– I �������– II 

a. �� ���� 
��������� �������� �� �/�� ������!�� 
��� �, �������, ��� ������
������0�(��������� ������������$������ �������, ���� 

i. @��D
�  

b. $��� 
��@�� ��� 
��� ������0�(���� �� � 
�(������ 
��� ���� � ���� ���0��
�-@�����  ����� ������O��� 

ii. 
�$��������$�� 

c. �� ���� �����$���� � ��� +� � ���4��
���4� ����/�� ���� $(�� ��
����/����� �����@������� ��������/�� 

iii. ��()������ 

d. +� � ������	�� $������ @����������� ���
�� ���� ������0�(�������� � ��
�, �������, ����  ��������� 

iv. �� 
��45�@� 

 � ��%�: 
  a b c d 

 (1) iii iv i ii 

 (2) iii iv ii i 

 (3) ii i iv iii 

 (4) iv iii i ii 
 

48. #��0���O���� ������� �� ��� ���0���������  ���� ������� � � � ����� � ���
��/�� 
��� ��()���– I � �� 
�$��� � ��� ��()���– II � �� 
�$��� ����
���
��������� ��@�+�: 

�������– I �������– II 

a. ������O��� �� � �  i. �����.���� 
b. ������* ���� �� � �  ii. 
���/�� 
c. ���
���@�� �� � �  iii. ��-.�� ���.���� 
d. 
��������P������ �� � �  iv. ��-.�� ���� � 

 ��   : 

  a b c d 

 (1) iii i ii iv 

 (2) iii i iv ii 

 (3) iv i ii iii 

 (4) iv iii ii i 
 

49. F���
����������@ ?@�?����� �#��� ��H�� )���@����� �
��)���� �4�  ����� ���� ���@����������
 (1) d /����4�  ��� (2) :�����@��4�  ��� 
 (3) ��������4�  ��� (4) �N�������R���4�  ��� 
 

50. ���@���
��$��� ����.�����
����������&���� ����@�������� : 
 (a) ��
��������� ��A
�$� 
 (b) ���� �� ��A
�$��
� ��   : 

 (1) �� ���� (a) (2) �� ���� (b)  

 (3) (a) ��� �(b) $������  (4) (a) ��� �(b) � ��������9� 
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51. Assertion (A) : Marketing is anything you create or share that tells your story. 

 Reasoning (R) : Marketing is a way to connect what products and services you have to 

offer with customers who want and need such product and services. 

 Codes : 

 (1) (A) is correct but (R) is not correct. 

 (2) (A) and (R) both are correct and (R) is the correct explanation of (A). 

 (3) (A) and (R) both are correct but (R) is not the correct explanation of (A). 

 (4) (A) and (R) both are incorrect. 
 

52. Assertion (A) : Downward price pressure for a changing economic environment has 

coincided with some long-term trends in technological environment. 

 Reasoning (R) : Through internet, buyers can get instant price comparisons and marketers 

can monitor customer behaviour to tailor their offers to individuals. 

 Codes : 
 (1) (A) is right and (R) is wrong. 

 (2) (A) is wrong and (R) is right. 

 (3) Both (A) and (R) are right. 

 (4) Both (A) and (R) are wrong. 
 

53. Which form of e-market place brings together buyers and sellers from the same industry ? 

 (1) Horizontal (2) Vertical 

 (3) Integrated (4) Inclined 
 

54. Identify the universal buying motives from the following : 

 (a) Profit or gain 

 (b) Beauty and Complexion 

 (c) Fear of loss 

 (d) Competition and Struggle 

 (e) Comfort and Pleasure 

 (f) Avoidance of Pain 

 (g) Love and Affection 

 (h) Pride and Prestige 

 Codes : 

 (1) (a), (b), (c), (d), (e) and (f) (2) (a), (c), (d), (e), (g) and (h) 

 (3) (a), (c), (e), (f), (g) and (h) (4) (a), (b), (c), (f), (g) and (h) 
 

55. Which of the following is the ongoing process of systematically identifying, assessing and 

developing organisational leadership to enhance performance ? 

 (1) Executive Planning (2) Role Planning 

 (3) Replacement Planning (4) Succession Planning 
 

56. Under the Factories Act, 1948, a ‘Young Person’ means the person who has not completed the  

 (1) Fourteenth year of age  (2) Fifteenth year of age 

 (3) Eighteenth year of age (4) Twenty first year of age 
 

57. Under which of the following gain sharing plans the employer divides the value added for 

the period by total payroll expenses ? 

 (1) Scanlon Plan (2) Improshare Plan 

 (3) Rucker Plan (4) Scalar Plan 
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51. &���� ��
��(A) : �����!���� ������
���� B���"� �@���������� ��*�@�����  ���� ������ � 
�������� ������ � @��������� ��� ������

������������� 

 ���� � (R) : �����!���������� �� ����"�@��������
���������@���F?��������� ������ ���#���#��0���O�������� ���#���#����$�
��� ��������� ������������$�������"��@�����#���#����$���� ��������� ��
���&����� ��������� ��������� 

 ��  �: 
 (1) (A) �������"������ ���(R) &����������� 
 (2) (A) ��� �(R) $������������������ �(R), (A)�� �����������8��������� 
 (3) (A) ��� �(R) $��������������"������ ���(R), (A) � �����������8�������9������ 
 (4) (A) ��� �(R) $�������&����������� 
    

52. &���� ��
��(A) : 
�$������ ��+� ��-.�� � ��� ������ ���� �/���&��
��� � �
���� $
����"� �����%���&�� �� ���
��/��� ��� ������ 
��� �� B�
$�S��� ����� ������*�=��������������������������� 

 ���� �(R) : �������� ���4 ���4������,� ������� ����� �
����� ������������  ���� ���������� ������!���� =����
������������ ���
����O�����������@���F?����������#��0���O��������� �������� �� ���
�����4 ��  ���� ��������� 

 ��  �: 
 (1) (A) ����������� �(R) &���������� 
 (2) (A) &������������ �(R) ���������� 
 (3) (A) ��� �(R) $����������������� 
 (4) (A) ��� �(R) $�������&����������� 
 

53. ���
��@�� ��.����� ��� ���������1 ���+� ����#%��&�������,� ������� �����,� ����� ���+� ����.������������? 

 (1) :�����@� (2) d /��� 
 (3) +� ��* �� (4) �����*=� 
 

54. ���
������8��������0�(
��F�������, ����������@������� ����)��f������ ��@�+�: 
 (a) ���0��������0����0� 
 (b) ����$������� � �&��1 �� 
 (c) ������� ��0���� 
 (d) ���������/������� ����S�3�� 
 (e) ������/������ ������$� 
 (f) ���F?��� ����� �� � 
 (g) ���� ���� ����� �&�� 
 (h) &��� ������ �������3E� 
 ��  �: 
 (1) (a), (b), (c), (d), (e) ���  (f) (2) (a), (c), (d), (e), (g) ���  (h) 

 (3) (a), (c), (e), (f), (g) ���  (h) (4) (a), (b), (c), (f), (g) ���  (h) 
 

55. ���
������8���� 
��� ���� � ����� ����� ��������3���$��� 
�>?����� �� � ���+� ���&�E����
�� � �����*����� �� ����������.���� �� ��� � ���� ���)�����
�  ���"�
�(������ ����  ������� ����� �����  ����� ��������������, �������? 

 (1) � ���������� �����@���� (2) 0�(�
�� ������@���� 
 (3) �������.�����������@���� (4) #=� ��/�� � �����@���� 
 

56. � � 8��������/������
�"�;ZV^��� ��/�����‘�����������O��’ ��������������+���������O���������"��@������� 
 (1) )���$����3���� ����������( �����9�� �������� (2) ���̀ ����3���� ����������( �����9�� ������� 
 (3) �E� ����3���� ����������( �����9�� ������� (4) �O� ������3���� ����������( �����9�� ������� 
 

57. ���
������8���� 
��� ���� �� �����0����0�� ���0��@���� ����@����� �� ��/����� �������O���� �� ��������/���� � 
�(���� ��-/���� � ����� ���
���������)�47E���������� �N� �����0���@�����  �������? 

 (1) ��� �������������@���� (2) ������������ �����@���� 
 (3)  O�  �����@���� (4) ��� �� �����@���� 
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58. When in any year the allocable surplus exceeds the amount of minimum bonus payable to 

the employees, the maximum bonus payable by employer is  

 (1) 8.33 percent (2) 10 percent 

 (3) 20 percent (4) 25 percent 
 

59. Who among the following propounded that the fixation of wages depends on the 

bargaining power of workers/trade unions and employers ? 

 (1) David Recardo (2) John Davidson 

 (3) J.B. Say (4) Karl Marx 
 

60. Which of the following is the situation in collective bargaining when the parties are not 

able to move further towards settlement because one party is demanding more than the 

other party offers ? 

 (1) Impasse (2) Arena 

 (3) Rigid (4) Unmoving 
 

61. Match the items of List – I with those of List – II  

List – I List – II 

a. Behaviourally 

Anchored Rating 

Scales (BARS)  

i. Placing predetermined percentages of 

employees into several performance 

categories. 

b. Forced Distribution 

method 

ii. Anchoring a numerical rating scale with 

specific behavioural examples of good 

or poor performance. 

c. Alternation ranking 

method 

iii. Ranking employees from best to worst 

on a particular trait, choosing from the 

highest to the lowest, until all are 

ranked. 

d. Paired comparison 

method 

iv. Ranking by pairing and comparing an 

employee with every other employee. 

 Codes : 

  a b c d 

 (1) ii i iii iv 

 (2) ii iii i iv 

 (3) iii ii i iv 

 (4) i ii iii iv 
 

62. Assertion (A) : Developing countries, with a narrow range of exports (often of 

primary goods) as their economic base, are particularly vulnerable to 

economic exploitation. 

 Reasoning (R) : Critics of multinational corporations usually view it as an economic 

and often, political means of foreign domination. 

 Codes : 
 (1) (A) is correct but (R) is not correct. 

 (2) (A) and (R) both are correct but (R) is not the correct explanation of (A).  

 (3) (A) and (R) both are correct and (R) is the correct explanation of (A). 

 (4) (A) and (R) both are incorrect. 

www.examrace.com



J-08-16 27  Paper-III 

58. ���$��� ������3���
�����
���4���� ��@������������������ O��� � 
�"�� 
��)��� ������ ���$�������(����
��
��������� �� � 
��������/�� �
����@��������"�������������O����N� ��$������/�� ��
��
������������������ 

 (1) 8.33 ���������� (2) 10 ���������� 
 (3) 20 ���������� (4) 25 ���������� 
 

59. ���
������8����
��������� ����������������$����� ��������� �
�@�?$( ��� �����/��� !��� 
��)��� ����"�
�@�$( ����S������� ��������O�������� ��
����$�����O����� ����0�� ��  �������? 

 (1) F����F�� � �F�Y (2) @��D���F����F���� 
 (3) @��_
��_���� (4) � �����
��O��� 
 

60. ���
�(��� �����$�
��@���
������
������8����
�������� �����������.��������������"�@�
����:�� � ���
�I�������� ����� ���&������9�
�>?��������
��"�O������ �+� ���:�� � "�$(�� ����:�� � �N� ���$+�&�+�����������������/�� �� ��
���&���  �������?�

 (1) &���� ��/� (2) �8��F?� 
 (3) ��F?&� (4) &�������� 
 

61. ��()���– I � ��
�$���� �����()���– II � ��
�$����� ����.�����
��������� ��@�+�K 
�������– I �������– II 

a. ��������� � �1 �������+�� F��
�, 
���� ���
�����
L
��_+_�� _+��_M 

i. � 
��)��� ����� � ��� ��(������/���� ��� ������������� ������� � � ���
� ��������3���$���'���!������
��� 8������� 

b. �* �	�
������� !����Q���� ii. ��� ���� �, 
���� ��� 
����� � �� �)B�� ��� � � 
�� � �����
���3���$��� �� � ������34� ������� �� � � #$�� !���� �� �
���.��+�� A &���  ������ 

c. ���� ����� � '��!���  !�� � ��
��Q���� 

iii. �� ���� ������3����� �� � ��/�� � �� � � 
��)��� ����� �� �
#))���
����.��� ���
����
��)������N� ���, 
����� ����  ����
@�
�� ��� � ��0��� � 
��)��� ����� � �� �, 
���� ��� ��� ��������
@�������� 

d. ���&
���������������Q���� iv. ���&
�� 
�����  ��, 
���� ��� �  ������� � �� ����� 
��)�� ��
� ���������� ������� 
��)�� ���� ����.������������  ������ 

 ��   : 

  a b c d 

 (1) ii i iii iv 

 (2) ii iii i iv 

 (3) iii ii i iv 

 (4) i ii iii iv 
 

62. &���� ��
��(A) : ���� ��������� $���"�������� ��-.�� ���/�� � �� � 1 ��� 
��� ������������ �� � ����  �� ���:��	�� L������K� ����.��
�� �
������+GM�������"���-.�� �����3�!���� ��������������3��1 �������������$�������������������� 

 ���� �(R) : 
��� �345���� �������&�� �� � ��
������)�� � ���
�������K� ����� ��-.�� � ��� � ������K� ���$����� ���0������ �� �
 �@�������� ����/������ �1 ���
���$�8���������� 

 ��   : 

 (1) (A) �������"������ ���(R) &���������� 
 (2) (A) ��� �(R) $��������������"������ ���(R), (A)�� �����������8�������9������ 
 (3) (A) ��� �(R) $��������������"���� �(R), (A)�� �����������8��������� 
 (4) (A) ��� �(R) $�������&����������� 
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63. Which among the following is not a member country of NAFTA ? 

 (1) U.S.A. (2) Panama 

 (3) Mexico (4) Canada 
 

64. Benefits of Capital Account convertibility are  

 (a) Availability of large funds to supplement domestic resources. 

 (b) Improved access to global financial markets. 

 (c) Improvement of financial system in the context of global competition. 

 (d) Ensured economic growth and development. 

 Codes : 
 (1) (a), (b) and (c) (2) (b), (c) and (d) 

 (3) (a), (c) and (d) (4) (a), (b), (c) and (d) 
 

65. As per WTO guidelines Agreement on Agricultural AOA is not considering which of following ? 

 (1) R and D and any other indirect support and assistance to farmers by the government. 

 (2) Direct payment to farmers. 

 (3) Least development countries do not need to make cuts. 

 (4) Cut back of domestic policies which directly affect production and trade. 
 

66. What is a future contract ? 

 (a) It is an agreement to buy or to sell a specified quantity of asset during a given period 

at a spot price. 

 (b) It is a marketable obligation to buy or to sell a specified quantity of a particular asset 

during a period at a given price. 

 (c) It is an option to buy or to sell a specified quantity of asset during a given period for 

a given price. 

 (d) It is a marketable obligation to buy or sell a specified quantity of a particular assets 

during a given period of time at a price to be determined in future. 

 Codes : 

 (1) (a) and (c) (2) (c) and (d) 

 (3) (b) only (4) (a) and (d) 
 

67. In case a company which is publically listed on any European Stock Exchange wishes to 

raise money from India; then this company may list its securities on Bombay Stock 

Exchange. Consequently, the Indian investor can buy the securities in which of the 

following form ? 

 (1) Bullion Derivatives (2) FDR 

 (3) GDR (4) ADR 
 

68. The concept that 

 “Lack of resources often helps countries to become competitive” is related to which of the 

following ? 

 (1) Competitive theory (2) Product life cycle theory 

 (3) Porters Diamond’s model (4) None of the above 
 

69. Rent free accommodation provided to the government employees shall be taxable upto 

 (1) 20% of the employee’s salary  

 (2) 15% of the employee’s salary 

 (3) licence fee fixed by the government 

 (4) 10% of the employee’s salary 
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63. ���
������8����
�������� ���������+��_+_+H _4�_+_�L���a4�M�� ����$����$�������9����? 

 (1) ��(_+��_+_ (2) �����
�� 
 (3) 
���O��� �� (4) � ���F� 
 

64. ��(G@��&�������8������ ������������������ ����0����� 
 (a) S� ���(�������/������� �����( ���  ������ ����+�
�F?������/������� ��#����
/����� 
 (b) �������� ����=�����
��@�� ������ �#����������G)�� 
 (c)� �������� ����������/������ �������&��
������=��������!������
������/�� � 
 (d) ��������)������-.�� ������*�Q���� ����� ���� 
 ��   : 

 (1) (a), (b) ��� �(c) (2) (b), (c) ��� �(d) 

 (3) (a), (c) ��� �(d) (4) (a), (b), (c) ��� �(d) 
 

65. F
���(_4�_���_��� � �$������$Y����� �� �������� ��* �3��+_���_+_� ���
��/����  � � 
��� ���
������8���� 
��� ���� �� ��� �� � ���)�� � ���9�
�� ����@���������? 

 (1) �� � � �N� ���� ��������� ����� ���� �F����.���� �����������������:���������&����� ����������� 
 (2) �� ��������� ������/����$���&����� 
 (3) 
������� 
������ ������$����� ���� 4�������  ����� ���������� �������9������������� 
 (4) S� ���(�������������� �1 ���
���+�����“� 4�
��� ”"��@�������#����$������ �������� �������:��1 ����������0���������������������
 

66. 0������������$��O�������? 

 (a) ���@� � � �
���� �� � +� �����/�� �� � $�� ���� ��� ������=������ � �� ������-$34� 
��	��� � �� �, ��� ���� ����, ��� �  ���� � ��������������
��
�I��������� 

 (b) ����$��&����� �
���� �� � �� ��������/���� �$�� ���� ������3����� ������=��� �� ������-$34�
��	����� ��, ������� ����, ���� ��
�����!����$�������������������� 

 (c) ����$��&����� �
������ ����+�$��&��������/���� �$�� ������� ������=���� �1 ���
���������-$34�
��	���� ���, �����������, ���
�  ����� ������ ��������� 

 (d) 0����3���
������/���� ���� ��@�������������� �
������ ���
������ �1 ���
���$��&��������/���� �$�� ������� ������=��������3���� �
1 ���
���������-$34�
��	����� ��, �����������, ����  ����� �������!����$������������� 

 ��  �: 
 (1) (a) ��� �(c) (2) (c) ��� �(d) 

 (3) �� �����(b) (4) (a) ��� �(d) 
 

67. ���$�+� �������@����� �� 
������@���� ��( ���������� �/�� ������!��
�����(�)�
�Q����@���� 0�� ������� /����@��4�����)���������� �����#���
� 
������� ���������� ������0�(�������� � ��� 
�

���� �� �/�� ������!�� 
��� ��(�)�
�Q��  ���� ���&��� �� H �����1 ��� 0�� ������ ��������� �
���
������8����
��������� ���1 ���
���������0�(������G�8� �$���� �������? 

 (1) 
��������������������� (2) +H _F�_�� _ 
 (3) @��_F�_�� _ (4) +_F�_�� _� 
 

68. “������/������� ��� 
���������K�$������� �������������&���
�������
���������� ����������” �������� �������� ����

��/�����
���
��������� ������
���? 

 (1) ����������&������Q����� (2) #����$���@�������)��, ����Q����� 
 (3) ����4� ����� � �LF��
��FM�������1 �� (4) #������O���
�������� ��������9� 
 

69. �� � � ��� 
��)�� ��� ������$=����  �����
��O������������� ��  �����&����������� �����
������&���:� 
 (1) � 
��)�� ���� ���������� ��20����������� (2) � 
��)�� ���� ���������� ��15����������� 
 (3) �� � � �N� �����/���� �������P�������� ��H ��� (4) � 
��)�� ���� ���������� ��10����������� 
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70. Marginal relief on income tax of a resident individual was available under which section 

of the Income Tax Act, 1961 for the assessment year 2015-16 ? 

 (1) Section 86 (2) Section 88 E 

 (3) Section 89 (4) Section 87 A 
 

71. Match the items of List – I with those of the List – II and indicate the correct code : 

List – I         List – II 

a. Section 80 D i. Pension fund of LIC 

b. Section 80 CCC ii. Interest on loan taken for studies 

c. Section 80 G iii. Health Insurance 

d. Section 80 E iv. Donation 

 Codes : 

  a b c d 

 (1) i ii iii iv 

 (2) i iii ii iv 

 (3) iii i iv ii 

 (4) i iii iv ii 
 

72. Income of the previous year is not taxable in the subsequent assessment year for which 

combination of the following ? 

 I. Income of non-resident from shipping 

 II. Income of casual nature 

 III. Income of bodies formed for short duration 

 IV. Income of a person trying to alienate his assets 

 Codes : 

 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 
 

73. As per the Income Tax Act, 1961, rate of tax for long term capital gain for the assessment 

year 2015-16 is  

 (1) 20% (2) 30% 

 (3) 10% (4) 25% 
 

74. As per the Income Tax, 1961, capital gain arising from the sale of agricultural land owned 

for 5 years in rural areas is  

 (1) Taxable as short term capital gains (2) Taxable as long term capital gains 

 (3) Exempted (4) Partly taxable and partly exempted 
 

75. Capital expenditure on scientific research in a previous year, which could not be absorbed 

due to insufficiency of profit in the relevant assessment year, can be carried forward for its 

setting off upto 

 (1) Next assessment year (2) Five assessment years 

 (3) Ten assessment years (4) Indefinite number of assessment years 

____________ 
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70. �����  ���/������
�"�1961 � �� �� ��� /�� ���� �����&������  ����/��� !�� ��3���2015-16 
��� +� � ���������� ����O���� ���
�����  ��� ����
������B(4�#����
/�����? 

 (1) /�� � 86 (2) /�� � 88 E 

 (3) /�� � 89 (4) /�� � 87 A 
 

71. ��()���– I � ��
�$���� ����()���– II � ��
�$��������
�������� ��@�+�+���������� ��F�� ������&����� ��@�+�: 
�������– I         �������– II 

a. /�� ��80 D i. @�������
��
������&�
��� ����������� ��3� 
b. /�� ��80 CCC ii. �/����������������+�&�����e !���� �
���@�� 
c. /�� ��80 G iii. �����.���
��
��� 
d. /�� ��80 E iv. $��� 

 � ��%�: 
  a b c d 

 (1) i ii iii iv 

 (2) i iii ii iv 

 (3) iii i iv ii 

 (4) i iii iv ii 
 

72. ���
������8������ ��� ����������@����
�����(������3���� �������
��$���������  ����/��� !����3���
����  �����&������9�����������? 

 I. @���@� ��������������������� ��������� 
 II. ��� ��
�� ����0������ ��������� 
 III. ����� ������ ����+�
���������.������� ��������� 
 IV. +���������O���� �������@�������������
���=������� ��������-������  ������ ����������
�������� 
 � ��%�: 
 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 
 

73. �����  ���/������
�"�;Z\;��� ���/�� ��� ��  ����/��� !����3���2015-16 �� ����+�$�S��� ���������(G@��&�������0���� ��  �
� ��$ ���� 

 (1) 20% (2) 30% 

 (3) 10% (4) 25% 
 

74. �����  ���/������
�"�;Z\;��� ���/�� ��� �&���
��!��:��	��
������G)����3��J��� ����+������
�����
��� ������������0�(�
���� �����, ���
�� �����������������(G@��&�������0�� 

 (1) ����� ���������(G@��&�������0���� �1 ���
����  �����&���������
 (2) $�S��� ���������(G@��&�������0���� �1 ���
����  �����&�������� 
 (3) �  �
��O���������
 (4) ������K��  ����&���+����������K��  �
��O�������� 
 

75. +� ���(������3���
������P������ �����/���� ���(G@��&���������"��@��������0��� ��� 
����� �� � !�����
�Q��  ����/��� !����3���
������������
���9��� ����@������ �"��������8�����  ������ ����+���&�������@������@������ �������?� 

 (1) �&������  ����/��� !����3������ � (2) ���G)���  ����/��� !����3��J���� � 
 (3) $����  ����/��� !����3��J����  (4) ������)�������8������ ��  ����/��� !����3��J���� � 

____________ 
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Space For Rough Work
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